
 

Model Questions Set - IV 

 

                    2021202120212021                        

                                    

lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%    
General Instructions: 

1. ijh{kkFkhZ ;FkklaHko vius ‘kCnksa esa gh mÙkj nhft,A 
Candidates are required to give their answers in their own words as far as 

practicable. 

2. bl Á’ui= esa nks [k.M & A vkSj B gSaA nksuksa [k.Mksa ds lHkh 
Á’uksa ds mÙkj nsuk vfuok;Z gSA 

 [k.M & A ¼HkkSfrdh ,oa jlk;u½        & 52 vad 

 [k.M & B ¼tho foKku½         & 28 vad 

 This question paper has two groups A and B. It is compulsory to answer all 

the questions of both the groups. 

 Group – A (Physics and Chemistry)                                             – 52 Marks 

 Group – B (Biology)          – 28 Marks 

3. ÁR;sd Á’u ds vad mlds lkeus vafdr gSaA 
Marks allotted to each question are printed against it. 

4. 2 vad okys Á’uksa ds mÙkj yxHkx 40&50 ‘kCnksa esa] 4 vad 
okys Á’uksa ds mÙkj yxHkx 50&60 ‘kCnksa esa ,oa 5 vad okys 
Á’uksa ds mÙkj yxHkx 70&80 ‘kCnksa esa nhft,A 
Answer in about 40-50 words the question of 2 marks, answer in about 50-

60 words the question of 4 marks and answer in about 70-80 words the 

question of 5 marks.  

5. lHkh jQ dk;Z Á’u&lg&mÙkjiqfLrdk ds var esa fn, x, i`”Bksa 
ij gh dhft,] vU;= dgha ughaA 
Do all rough work in the last pages of the Question-cum-Answer Booklet 

and nowhere else. 

6. tgk¡ dgha Hkh fp= vko’;d gks] mUgsa LoPNrk ds lkFk Li”V #i 
esa [khafp,A   
Draw neat and clean diagram wherever necessary. 
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 [k.M & [k.M & [k.M & [k.M & A ¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½    
Group-A (Physics & Chemistry) 

 

 cgqfodYih; ç’ucgqfodYih; ç’ucgqfodYih; ç’ucgqfodYih; ç’u    
    

 

1. fuokZr esa çdk’k dh pky gksrh gS 
 
(a) 3x10

8
 m/sec  (b) 3x10

8
 cm/sec 

(c) 3x10
8
  km/sec

 

 (d) 3x10
8
  mm/sec 

 

1 

 Speed of light in vacuum is  

  

(a) 3x10
8
 m/sec  (b) 3x10

8
 cm/sec 

(c) 3x10
8
  km/sec

 

 (d) 3x10
8
  mm/sec 

 

 

2. /kzo vkSj oØrk dsUæ dks feykusokyh js[kk dks ----------------- dgrs gSA 
 

(a) eq[; v{k  (b) ijkorZfr js[kk 
(c) vkifrr fdj.k  (d) buesa ls dksbZ ugha   
 

1 

 The line joining the pole and centre of curvature is called ---------- 

 

(a) Principal axis    (b) Refracted line  

(c) incident ray   (d) None of these   
 

 

3. çdk'k rjax mnkgj.k gS 
 

(a) /ofu rjax dk  (b) fo|qr&pqacdh; rjax dk  
(c) ijkcSaxuh rjax dk (d) buesa ls dksbZ ugha   

1 

 Light wave is an example of  
 

(a) Sound waves   (b) electro magnetic waves  
(c) Ultraviolet waves  (d) None of these  

 

 

4. ,d bysDVªkWu ij fdruk vkos’k gksrk gSA 
 

(a) 16x10
19   dwykWe   (b) 0.16x10

19 dwykWe   

(c) 16x10
 -19 dwykWe   (d) 1.6x10

-19 dwykWe   
 

1 

 Charge on an electron is  
 

(a) 16x10
19   

Coulomb    (b) 0.16x10
19 

Coulomb  

(c) 16x10
 -19 

Coulomb   (d) 1.6x10
-19 

Coulomb   
 

 

5. L.P.G  dk eq[; vo;o gS 
 

(a) ukWeZy C;wVsu ,oa vkblksC;wVsu (b) gkbMªkstu 
(c) dkcZuMkDvkWDlkbM ,oa veksfu;k (d) isUVsu  

1 



 Main component of L.P.G is  

 

(a) Normal Butane an Isobutene    (b) Hydrogen    
(c) Carbondioxide and Ammonia    (d) Pentane  

 
 

 

6. IykLVj vkWQ isfjl dk jklk;fud lw= gSA 
 

(a) 14.
22

C a S O H O    (b) CaSO4 . 2H2 O   

(c)CaOCl2     (d) CUSO4 . 5H2O   
 

1 

 The Chemical formula of plaster  of Paris is  
 

(a) 14.
22

C a S O H O    (b) CaSO4 . 2H2 O   

(c)CaOCl2     (d) CUSO4 . 5H2O   

 

 

7. 'kY; fpfdRlk esa VwVh gfì;ksa ds fy, ç;qDr gksusokyk jlk;fud inkFkZ 
gSA 
 

(a) ftIle     (b) /kksus dk lksMk 
(c) IykLVj vkWQ isfjl   (d) dyh pwuk    
 

1 

 The Chemical substance used as a cast for setting broken bones in surgery  
 

(a) gypsum      (b) washing soda   
(c) Plaster of Paris       (d) quick lime  

 

 

8. vEyh; foy;u dk PH eku gksrk gS 
 

(a) 1      (b) 7 ls de 

(c) 7 ds cjkcj    (d) 7 ls vf/kd  
 

1 

 The PH value of acidic solution is  
 

(a) 1      (b) less than 7 

(c) equal to     (d) More than 7 
 

 

9. nhokjksa ij lQsnh djus ds fy, fdldk mi;ksx gksrk gS\   
 

(a) CaCO3     (b) Ca (OH)2 

(c) Ca(HCO)3    (d) CaSO4 
 

1 

 Which is used for white washing of walls? 
 

(a) CaCO3     (b) Ca (OH)2 

(c) Ca (HCO)3    (d) CaSO4 

 
 

 



10. lksfM;e lYQsV vkSj csfj;e DyksjkbM dks feykus ij fdl jax dk 
vo{ksi çkIr gksrk gS\  
 

(a) uhyk     (b) gjk 
(c) lQsn     (d) Hkwjk  

1 

 What is the colour of Precipitate obtained when sodium sulphate and barium 

chloride are mixed?   
 

(a) blue      (b) green  
(c) white      (d) brown   

 

 

 [kkyh LFkkuksa dh iwfrZ djsa[kkyh LFkkuksa dh iwfrZ djsa[kkyh LFkkuksa dh iwfrZ djsa[kkyh LFkkuksa dh iwfrZ djsa    
(Fill in the blanks) 

 

11. /kkjk dk SI ek=d ------------------- gksrk gSA 1 

 S.I unit of electric current    ……………….  

12. ghjk ,oa xzsQkbV dkcZu ds ------------------- gSA  1 

 Diamond and graphite are …………… of carbon.   

13. okLrfod çfrfcEc rFkk vkHkklh çfrfcEc esa vUrj fy[ksaA   1 

 Write difference between real image and virtual image.   

14. mÙky niZ.k ds mi;ksx fy[ksaA    1 

 Write uses of convex mirror     

15. lkekU; vk¡[k ds fy, Li"V n`f"V dh U;wure nwjh D;k gksrh gS\ rFkk 
ekuo us= esa fdl çdkj dk ysal mifLFkr jgrk gS\  

2 

 What is least distance for distinct vision for normal eye ? and which type of lens 

is present in human eye?  

 

16. lwpd D;k gS\ ,d çkd`frd lwpd rFkk ,d xa/kh; lwpd dk mnkgj.k 
nsaA   

2 

 What is indicator? Give example of one natural indicator and olfactory  indicator.   

17. larjk rFkk VekVj esa dkSu lk vEy ik;k tkrk gS\  2 

 Which acid is found in Orange and Tomato respectively.  

18. ftad dks vk;ju ¼II½ lYQsV ds foy;u esa Mkyus ls D;k gksrk gS\ 
bldh jklk;fud vfHkfØ;k fyf[k,A  

2 

 What would you observe when zinc is added to a solution of iron (II) sulphate?  

Write the chemical reaction that takes place. 

 

19. thok'eh b±/ku D;k gS\ çeq[k thok’e b±/ku dkSu&dkSu gS rFkk 
thok’eh b±/ku dh D;k gkfu;k¡ gS\  

2 

 What is fossil fuel? Write name of some fossil fuel and what are the 

disadvantages of fossil fuels?   

 

20. ,d fo|qr ifjiFk dk vkjs[k [khapsA rFkk Js.khØe esa la;ksftr djus ds 
LFkku ij oS|qr ;qfDr;ksa dk ik’oZ Øe esa oSVjh ls la;ksftr djus ls 
D;k ykHk gS\ 

2 

 Draw a circuit diagram. What are the advantages of connecting electrical devices 

in parallel with battery instead of connecting them in series.   

 



   

 fuEufyf[kfuEufyf[kfuEufyf[kfuEufyf[kr jklk;fud lehdj.k dks larqfyr r jklk;fud lehdj.k dks larqfyr r jklk;fud lehdj.k dks larqfyr r jklk;fud lehdj.k dks larqfyr dhdhdhdhftftftft,A,A,A,A    
Balance the following chemical equation 

 

 

21. a) Fe + H2O   Fe3O4 + H2 
4 

 b) Na  + O2   Na3 O 

c) K + H2 O  KOH  + H2  

d) N2  + H2  NH3 

 

 

 fuEufyf[kr ;kSfxdksa dk jklk;fud lw= fy[ksa %&fuEufyf[kr ;kSfxdksa dk jklk;fud lw= fy[ksa %&fuEufyf[kr ;kSfxdksa dk jklk;fud lw= fy[ksa %&fuEufyf[kr ;kSfxdksa dk jklk;fud lw= fy[ksa %&     

22. (a) lk/kkj.k ued   (b) cSathu 
(c) ty    (d) csfdax lksMk 

4 

 Write the chemical formula of following compounds   

 (a) Common Salt   (b) Benzane 
(c) Water    (d) Baking Powder 

 

23. ekuo us= dk ukekafdr fp= cuk;sa   4 

 Draw a labeled diagram of human eye    

24. fudV n`f"Vnks"k vkSj nh?kZ n`f"Vnks"k D;k gS\ blds dkj.k crk;sa rFkk 
bldk mipkj dSls fd;k tk ldrk gSA  

4 

 What is Myopia and hypermetropia? What are its cause and write the remedy to 

cure it.  

 

25. fuEufyf[kr dk ljapukRed lw= fyf[k,A     

 (a) esFksu  (b) çksisu (c) ,Fksu (d) csathu  
(e) DyksjksC;wVsu  

5 

 Write the structural formula of following    

 (a) Methane   (b) Propane    (c) Ethane  (d) Benzene  

(e) Chlorobutane  

 

26. dkWij dks yky Hkwjs&pw.kZ dks fp=kuqlkj xeZ fd;k x;kA  5 

 Red Powder of copper is heated according to given figure.   

  
 
 
 
 
 
 
 
 
a)  ¼1½ ,oa ¼2½ dk uke fyf[k,A 
Write the name of (1) and (2) 

 

 b) buesa gksus okyh vfHkfØ;k dk uke fyf[k,A 
Write the name of reaction taking place. 

 



 c) vfHkfØ;k ds fy, larqfyr lehdj.k fyf[k,A 
Write the balanced equation for reaction taking place. 

 

 d) mRikn dh H2 xSl ls vfHkfØ;k dk lehdj.k fyf[k,A 
 Write the equation for the reaction of product with H2 gas. 

 

   

 Group-B (Biology) 
tho foKkutho foKkutho foKkutho foKku    

 

27. eqdqyu }kjk vySafxd tuu gksrk gS 
(a) vehck esa    (b) ;hLV esa 
(c) IySTeksfM;e esa   (d) ysLekfu;k esa 

1 

 The asexual reproduction through budding takes place in - 

(a) Amoeba     (b) Yeast   
(c) Water    (d) Leishmania  

 

28. ekuo ân; esa fdrus vfyan rFkk fdrus fuy; gksrs gS\ 
(a) 2 vfyan] 2 fuy;   (b) ,d vfyan] 2 fuy; 
(c) 2 vfyan] 1 fuy;  (d) ,d vfyan] 1 fuy; 

1 

 How many auricles and ventricles are found in human heart 

 (a) 2 auricle, 2 ventricle   (b) one auricle 2 ventricle   
(c) 2 auricle 1 ventricle   (d) one auricle 1 ventricle  

 

29. o`Dd dh jpukRed vkSj dk;kZRed bdkbZ D;k gS\  
(a) usÝku     (b) /kefu;k¡ 
(c) IysVysV~l    (d) buesa ls dksbZ ugha  

1 

 What is structural and functional unit of kidney?   

 (a) Nephron     (b) Arteries  
(c) Platelets      (d) None of these   

 

30. ;s d.k jDr dk FkDdk cukus esa lgk;d gSA  
(a) IysVysV~l ;k ifÍdk.kq (b) yky jDr  
(c) 'osr jDr d.k   (d) buesa ls dksbZ ugha  

1 

 These particle help in clotting of blood.  
 

 (a) Platelets     (b) Red blood cells   
 (c) White blood cell    (d) None of these   
 

 

31. fdl oSKkfud dks ^vkuqoaf’kdh dk firk* dgk tkrk gS\ 
 (a) xzsxj tkWu esaMy  (b) g~wxks Mh czht   
(c) okWu ljekdZ   (d) buesa ls dksbZ ugha  

1 

 Name the scientist who is known as the ‘father of Genetics’  
 

 (a) Gregor johann mendel   (b) Hugo de Vries    
 (c) Von Tschemark     (d) None of these   
 

 

 fjDr LFkkuksa dh iwfrZ djsafjDr LFkkuksa dh iwfrZ djsafjDr LFkkuksa dh iwfrZ djsafjDr LFkkuksa dh iwfrZ djsa    
Fill in the blanks. 

 

32. vek'k; dh tBj xzafFk;k¡ ---------------- L=kfor djrh gSA 
gastric gland of stomach secrete ……………. 

2 



  

33. ikni esa tkbye ------------------ ds fy, mÙkjnk;h gSA  
 

Xylem in plant is responsible for ………………. 
  

2 

34. ,sls inkFkks± dks -------------------- dgrs gS tks tSfod çØe }kjk vi?kfVr 
gks tkrs gSA  
 

The substances that are decomposed through biological processes are called as 

…………….. 
 

2 

35. ijkcSaxuh fdj.kksa ds tho/kkfj;ksa ij iM+us okyh fdUgh nks gkfudkjd 
çHkkoksa dk mYys[k djsaA  
Mention any two harmful impact of ultra-violet radiation on living organism.  
  

2 

36. Loiks"kh iks"k.k ds fy, vko’;d ifjfLFkfr;k¡ dkSu&lh gSa vkSj bldk 
miksRikn D;k gS\  
What are necessary condition for autotrophic nutrition and what is its by product?  
   

2 

37. ok;oh; ¼vkDlh½ rFkk vok;oh; ¼vukDlh½ 'olu esa D;k vUrj gS\  
 

What are difference between aerobic and anaerobic  respiration?  

2 

 OR/vFkokvFkokvFkokvFkok     

38. gekjh issf’k;ksa esa vdM+u dSls vk tkrh gS\  
How do ramps occur in our muscles?     

5 

 OR/vFkokvFkokvFkokvFkok  

 jDr D;k gS\ jDr ds dk;Z fy[ksaA  
What is blood? Mention its function    

 

   

39. tuu D;k gS\ vySafxd rFkk ySafxd tuu esa vUrj fy[ksa rFkk ,dy 
thoksa esa çtuu dh fofHkUu fof/k;ksa ds uke fy[ksa 
What is reproduction? Write difference between asexual and sexual reproduction 

and write the name of various method of asexual reproduction in a cellular 

organism.   
 

5 

 OR@vFkok@vFkok@vFkok@vFkok    
    

 

 fp= dk fujh{k.k djsa vkSj blij vk/kkfjr ç’uksa dk mÙkj nsa & 
Observe the figure and answer the question based on it .  

 

 
 
 

 

 a) fp= D;k n’kkZrk gS\  



What does figure show? 
 

 b) fp= esa çnf’kZr ?kVuk dk fooj.k çLrqr djsaA  
Present details of the incident shown by the figure.  
 

 

 c) iqu:n Hkou dk D;k vFkZ gS\  
What do you mean by Regeneration?  
 

 

 


